'/I!.!A!A !. !A Al

ECHNICAL INFORMATION [ a6802
> Change on gear housing complete and plate

Zoj\Lels[SE5H) - JR3000, JR3000V and JR3001 (Recipro Saw)

EESIETE » 1. A plate (C) will be added.

2. Bosseswill be added to the gear housing complete to accept the plate (C).

3. Hex socket head bolts M5x12 will be added to install the plate (C) on the gear housing
complete.

4. The plate for installing the plane bearing will be changed from L-shaped to flat type.

5. The countersunk head screw M5x12 for securing the flat washer 6 will be changed to the
hex. socket head bolt M5x12.

» Current Plate (L-shaped)

Countersunk head screw M5x12

Gear housing complete

» New
Plate (flat type)

Hex. socket head bolts M5x12

Plate (C)

Hex. socket head bolt M5x12




I nter changeability(1/C)

Item No, Current part Q'ty| 1/C | New part Q'ty
Plate (C)
70 3430818 1
_Gear housing complete No | Gear housing complete | 1
19 159679-5 ! ° l1so718°1 Interchangeable as a set
Hex. socket head bolt
M5x12
2 N N s 2
251969-3
Plate Plate
6 3435262 T 1 |No Iagiagog 1
Countersunk head screw Hex. socket head bolt
12 | MSXx12. . 1 |Yes |MX12 1
251372-8 251969-3

I mplementation

JR3000

JR3000V : From serial No. 1561192E

JR3001

: From seria No. 260540E

: Discontinued




